
Multiply by Negative Powers of Ten (I)Find each product.
11 × 0.01 = 11 × 0.01 =
61 × 0.001 = 95 × 0.001 =
93 × 0.001 = 3 × 0.1 =
59 × 0.001 = 64 × 0.01 =
33 × 0.1 = 74 × 0.1 =
24 × 0.1 = 80 × 0.001 =
75 × 0.01 = 53 × 0.1 =
71 × 0.001 = 74 × 0.001 =
3 × 0.01 = 23 × 0.001 =
33 × 0.001 = 7 × 0.001 =
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Multiply by Negative Powers of Ten (I) AnswersFind each product.
11 × 0.01 = 0.11 11 × 0.01 = 0.11
61 × 0.001 = 0.061 95 × 0.001 = 0.095
93 × 0.001 = 0.093 3 × 0.1 = 0.3
59 × 0.001 = 0.059 64 × 0.01 = 0.64
33 × 0.1 = 3.3 74 × 0.1 = 7.4
24 × 0.1 = 2.4 80 × 0.001 = 0.08
75 × 0.01 = 0.75 53 × 0.1 = 5.3
71 × 0.001 = 0.071 74 × 0.001 = 0.074
3 × 0.01 = 0.03 23 × 0.001 = 0.023
33 × 0.001 = 0.033 7 × 0.001 = 0.007

Math-Drills.Com


